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M , t,
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A<3wc_3><0. 2—10. 47s
A=ds, N>L=D_3 75 N=31,M
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NA=124s,
M
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° ’ ts:1539
w.=2Hz, , M :a=0.5mA,A=0. 6s,
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2.1

2.2

30 -

:chap2 2. m

clear all;
close all;
n= 4;
N= 2"n- 1;
a= 0.5;
delta= 0.6
Al= 1;A2= 1;A3= 1;A4= 0; %
for i= 1:3* N

X1= xor (A3,A4); %
X2= Al;
X3= A2;
X4= A3;
OUT (1)= A4; %

t(i)= delta* i;
if OQUT (i)> 0.5
u(i)= - a; %

elseu(i)= a;

end
Al= X1;A2= X2;A3= X3;RA4= X4;
end
figure (1); % M

stairs(t,u,'- ")
axis((120-0.60.6]);

2

2-14 ) G(s)=1/(0.1s+1),
, M A=15ms, 5
2-15 , K=165s""',T=0. 25s,

é 1) K W)

100k l s(Ts+1)

X0 _|_ W)
IuF -
2-14 RC 2-15
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1801 1802
3.1.1
t .
R t
sa b
s Vi
3.1.2
(3.4
(3.5

0320

1794 ,

[36~38]
3.1
, R
t . R (t; R,
’ R:f(t)
R=a+& (3.
) , a b
Vi :R,-—Q—"Ui Vi :a—Fbt,v—F"U,- (3- 2)
;Ri 5U; o
N
M= v +v 4oy (3.3)
i=1
N N
]min - rU? - 2[R17(a+btz):lz (3- 4)
i=1 i=1
“ ”’ ] a [) ,
J ,
aJ C oNV(p
Gal. = 2;@{ a—b) =0
N (3.5
W oSVR —a— bt =0
b |,y - i a il =
a b



N N N (3.6)
[aX30+530 = SR,
i=1 i=1 i=1
(3.6),
N N N N
DR D36 — D Rt >
Lo 4 i—1 i=
a = N N
N —(O)?
i=1 i=1
(3.7)
N N N
NSIRE— DR
j = izl =1 =1
N N
NY & — OO0
i=1 i=1
3.1.3
3_1 . b
70°C o
3-1
tC°C)H 20. 5 26 32.7 40 51 61 73 80 88 95.7
R(Q) 765 790 826 850 873 910 942 980 1010 1032
MATLAB , chap3 1.m,
(D , , ,
3-2 R
(2) 3-2 , )
R=a+bt
1050
£
1000+
¥
9501 "
+
900}
.
B30F +
-~
800}
Y
-
?50 I 1 1 1 1 I 1
20 30 40 50 60 70 80 90 100
3-2

oSS.



(3) (3.7 3-1 a=1702.762,b=3. 4344,

R=702.762-+3. 4344¢
3-3 o

1050

1000

950

900

850

800

75[} 1 1 1 1 1 1 1

20 30 40 50 60 70 80 90 100
3-3
4 t=70C , R=943. 1680,
:chap3 1.m

clear all
close all
clc

T=[20.526 32.7 40 51 61 73 80 88 95.7];%
R= [765 790 826 850 873 910 942 980 1010 1032];%
[m,n]= size(T);
figure
plot (T,R, 'b+ ")
t=0;
z= 0;
tz= 0;
tt= 0;
for i= 1:n
t=t+ T(1);
tt= tt+ T(i)* T(1i);
z= z+ R(1);
tz= tz+ T(i)* R(1);
end
a= (tt* z- t* tz)/(n* tt- t* t);
b= (n* tz- t* z)/(n* tt- t* t);
Rl= a+ 70* b;

°

A= polyfit(T,R,1);
z= polyval (A,T);

oe
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figure
plot(T,z);

figure
plot (T,R, 'bt+ ")
hold on
plot(T,z,'r");
hold off
3.2
3.2.1
, (Single Input Single Output,
SISO) , 3-4 , “ 7, . ,
3-4 u(k) z(k) ;G(k) s
. so(k) o
SISO s G(2) w(k)
vy v bz bt et wh) | e 2B (k)
G(2) u(z) l4+az ! +ag? 4+ +az™ 3.8 o
3-4 SISO
y(B) =— D ayk—i) + D bu(k—i) (3.9) 7
i—1 i—1
, (3.9
(k) =— D ay(k—i) + D bu(k—i) + o(k) (3.10)
i=1 i=1
,z(k) k s v(k) k s y(k—1)
k—1 sy(k—1) k—1 ) su(k)
k su(k—1) k—1 su(k) 0 o
h(R)=[—yk—1),—yk—2) s —yk—n) y,u(k—1) yu(k—2) s+ su(k—n) ]
Bz[al 5Qz st 5y 5Dy 5Dy 5o 9!77:]'11
(3.10)
z(k) = h(k)O+v(k) (3.1
.0 o
k=1,2,,m,
z(D) h(1) —y(0) —y(1—n) u(0) u(l—n)
_ 2(2) _ h(2) _ —y(1) —vy(2—n) u(l) u(2—n)
z(m) h(m) —y(m—1) —ym—n) ulm—1) u(m—n)
0=1aiass*** sy b1 30y 530, |7V, =[0v(1) v(2) v(m) T
, (3.1D)
Z,=H,0-+V, (3.12)

oSS.



0 07 Zi(izly"'ym)
0 Zi:Hié ’

J@® = Z,—H,0)"(Z,—H,0) = min
a]  OH(7 —HA) —
ae 0:9 2H171 (ZHI HHIB ) O
(3.14) .
H'H.0 = H\Z,
Hm b m 2 Zn b H:];IHI)I b rank (H;};Hm ) -

(H,H,) ! . 0

6= HH, 'H\Z,
(3.16) . (3.12) .
() (=1, ,m) .
(3.12) .7, m {h(1),h(2) e+ h(m) )
Z, JH,0 Z, {h(1),h(2), h(m)}
s s 3-5 o s
h(1) h(2) Z, H.0 h(1) h(2) T .
Z,—H.0 JH,0 Z, h(1)  h(2) T .
| 0. R
(D ( )
¥ 0 .
) E@® = E@ =0
7 0=0-0 :
0
0=60—0—0—(H'H,) 'H.Z,
EW,)=0,
E@=E[(H\H,) '(H H,)0—(H.H,) 'H\Z,]
=(H!H,) 'HE(H,0—Z,)
=—(H'H,) 'H'E(,)=0
(2) ( )
] 0 .
6 o . .
, , 0 o
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A 5 A 5 A A

, 0, o1 0, o1 ’ 6, 0.

n. (3- 18)9
E@6")=(H'H,) 'H'E(V,V\)H,(H'H,) '=(HH,) 'HRH,(H'H,) ' (3.19)
V,={v(1),v(2),,v(m)} (D) GE=1,2,,m) . .
0 GZ( )7
R=EWV,V}) =41 (3.20)
(3.20) (3.19
E@00") = (H'H,) 'H!RH, (H'H,) ' = (H.H,)"' (3.2D)
(3.2D) , m,
(3) ( )
[} ’ é ° m
7@,), 07 ém 0 ° €
limp(| 6, —0|>e) =0 (3.22)
é/” 0 o
m . ) ém
09 m—>oo 7E(66T)_>Os
2 —1
limo? (HH,) " = lim ‘L(ngH,,I) =0 (3.23)
m—>co m—>co ML\ M
[ 3. 1] (7] ’ <1 22
Og r 47" ) 0 s [39]0
Z2:H20+V2
2 1 r 0
I
25 1 0 4r
(3.16) (3.19),
A 1 - 21 1
0:<[1 1][ D B 1][ }:—@ﬁzﬂ
1 P 2
. 19, 7! r 0-rl 19\ ' 5,
E@0H=([1 1 ) 1 1[ H J( 1 1“) =2
<[ ][J R s G 4"
3.1 , 4 ,
3.2.2
3.1 . ,
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) .
0 (3.13),
](é) - (Zm - Hmé)TWm (Zm 7 Huzé) - min (3. 24)
9Wm b ’ .
W,, = diag[w(1) ,w(2) =+ sw(m) ] (3.25)
, (3.24) .0
WL oW, (Z, — H,9) = 0 (3.26)
90 | 9—o
(3.26) , 0
6= (HW,H,) 'HW,Z, (3.27)
VHI O\ R ’
E00") = (HIW,H,) 'H!W,RW,H,, (H!W,H,)"" (3.28)
W,=R', (3.27)
0= (H'R'H,) 'H'R'Z, (3.29)
E6") = (H/R 'H,)"" (3.30)
A B nXm mXp ,  AAT ,
[B—AT(AA") 'AB|'[B—AT(AA") 'AB]
=BB"—2B"A"(AA") 'AB+B"AT(AA") 'AAT(AAT) 'AB
=BB"—B"A"(AA") 'AB=0
BB" = (AB)"(AAT) 'AB (3.31)
(3.31) .
\ R R=C"C, C ,
A=HC" (3.32)
B - a/‘/]}’lHIII(HIWHIH]Yl)71 (3- 33)
(3.32) (3.33) (3.31),
(H};WHIHM >7l H;};W”?RW]”H”; (HI—EW)/IHNI ) 71 >(H;£Ril Hnl ) 71
b Wm:Ril ’ . (Hg‘ ! Hm )71 o
[ 32] 3.1 , W,=R', (393 ]
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MATLAB chap3 2. m, . (3.16) 0 .
3-8 , 3-2 .
3-2
ai as b by
1.5 0.7 1.0 0.5
1. 496 0. 697 0. 966 0.482

:chap3 2. m

clear all
close all
clc
randn ('seed', 100)
v=randn(l,16); % 16 N(0,1)
s M
L=15;% M
yl=1;y2=1;y3=1;y4=0;%
for i=1:1;
x1=xo0r (y3,v4);
x2=y1l;
x3=y2;
x4=y3;
y(i)=y4;
if y(i)> 0.5,u(i)=-5;
elseu(i)=5;
end
yl=x1;y2=x2;y3=x3;y4=x4;
end
figure
stem(u) ,grid on
title (" M ")

o

z=zeros (1,16); %
for k=3:16
z(k)=-1.5*% z(k-1)-0. 7% z(k=2)+u(k-1)+0. 5* u(k-2)+1* v(k); %
end
figure (2)
plot([1:16],z2)
title (" ')
figure (3)
stem(z),grid on
title(" z )

) =z (1) u(2) u(l);-z(3) -z (2) u(3) u(2);-z(4) -z(3) u(4) u(3);-z(5) -z(4)
7=z (6) —z(5) u(6) u(d);-z(7) —z(6) u(7) u(6);-z(8) -z (7) u(8) u(7);-z(9) -

H=[ -z (2
(4)
(9) u(8);-2z(10) =z (9) u(l0) u(9);-z(11l) -z (10) u(ll) u(l0);-z(12) -z (11) u(l2)



;—z(13) -z (12) u(1l3) u(l2);-z(14) -z (13)

7212 (3);2(4);2(5);2(6);2(7);2(8);2(9);2z(10);z(11);z

c=inv(H'* H)* H'* Z;

al=c(l), a2=c(2), bl=c(3), b2=c (4)

3.3
, (3.16) (3.27)
3.3.1
0Ck)= 0k—1)+
OCk) 0Ck—1) ;
3.3.2
, 3-4 SISO o
(3.27), m
él]I - (H};W])IHIN ) 71 H;gWI)IZ/H
N , (3.1D)
zm+1D)=h(m+1DO0+v(m+1)
(3.12)
Z/rrH - HnrHo_’_V/rrH
Z = 2 H,. = . Vo =
S [2(771—0—1)] S [h(m—i—l)} S [
, (3.27),

0 — T —1 T
0111}1 - (Hm\ IWm( IHm\ 1 ) Hm\ IWHM IZmH

. WNI O
et [O w(m+1)]o

u(14) u(13);-z(15) -z (14) u(1l5) u(14)J;

(12) ;2 (13) 7z (14) ;2 (15) ;2 (16) ]

(3.3D
(3.3%

Vl]?
v(m + 1)}

(3.36)
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Pl]? - [H;}-ZWI]7H1)I]71 (3' 37)

P,,=[H, W, H, "' (3.3%)
0, =P.HW,Z, (3.39)
0. =P, H.W,,.Z,, (3.40)
(3.35) (3.40),
Oms = Pra LB BTG+ D] [V‘; w(m0+ D } [z(mz+ 1)J
=P, HW,Z,+P, . h" (n+ Dwin+ 1Dz(m+1) (3.41)
(3.39)
HW,Z, = P,'d,, (3.42)
(3.4D)
0.1 = P, P9, + P,k (n+ DwGn+DzGn+1) (3.43)
(3.35) (3.38),
P = (LI hT(mkl)]FZm IUO;{Fl)J[hhiﬁil)})l
= [HIW,H,,+h"Gn+ Dwim+ DhGn+ 1D ]! (3. 44)
(3.37) (3.44),
P, =[P, +h (m+Dwn+Dh(m+ 1] (3.45)

(A+BCD)'=A"'"—A7'B(C"'+DA'B)"'DA™', (3.45)
P,,=P,—Ph " m+D[w'm+1D +h(m+DP,h"n+1D ] 'h(m+DP,
(3.46)
(3.45) )
P, =P, —h"n+Dwin+ Dh(m+1) (3.47)
(3.47) (3.43),
0, =P, [P} —h" Gn+ Dwin+ DhGn+ 110, +Poh" (m+ Dwlm+ DzGm+1)
=0, — P, h" (n+ Dwim+ DhGn+ 18, + P,k Gn+ Dwlm+ DzGm + 1)

=0, +P, K" (m+ Dwin+ D[z(m+1) —hGn+ 14, ] (3.48)
Km+l :P,,H»lhT(T}’Z+1)'LU(7’H+1) ’ (3- 46) )
K,, =Ph" m+D[w'm+1D +h(m+DPh " tn+1)]! (3.49)

(3.46), (3.48) (3.49)
0,..=0,+K,. [z(m+1)—hGn+180,,]
P, =P,—P,h"(m+D[w 'tnt+D+hGn+DP,h"(m+1D ] 'h(n+DP,
K, =Ph"(m+D[w ' m+D+h(m+DPh"(m+1) ]!

(3.48) :0,, sh(m+1)0,
sz(m+1) , z(m+1)—
h(m+1)0,, , . 0,
’ ém“rl ém
, K, P,

0420
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m . (3 27) Tw(m+l)
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m+1 . N
(2) 0, P,
’ 9()2091)0:&1901 o ’ ‘90 P,
° LY04 o
0; (m~+1)—0,(m)
Vi 0, (m) <& €
3.3.3
2(k)ta z(k—1)taz(k—2)=bju(k—1)+byu(k—2)+V (k)
) a1:1.5‘a2:O.7‘[)1=1.0 /)Z:O.S;V(/e) N(Oal) H
uCk) 4 M , 5; W.=1,
3-10 , chap3 3.m,
PR dR
F0 i Bz
)
Boipcrea
P(0)s 6(0) whie
¥
WHEPK), O(RFIKK)
O(k-1)=0(k)
P(k=1)=P(k)

o43.



3-11

3-12 ,

3

e — AR SROHHA

30 40

3-3

44

0 10 20 50 60
3-11
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1000} i 1
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0
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3-12
3-3
ap as by b
1.5 0.7 1.0 0.5
C 20 ) 1. 570 0. 767 1.018 0. 549
C 40 ) 1.514 0.717 1.017 0. 499
:chap3 3. m
clear all
close all
clc
% N(0,1)

randn ('seed',100);

v=randn (1, 60) ;

% M
L=60;% M

yl=1l;y2=1;y3=1;y4=0;%




for 1=1:1;
x1l=xor (y3,vy4);

x2=y1;
x3=y2;
x4=y3;
y(1)=y4;
if y(i)> 0.5,u(i)= - 5;% M 5

else u(i)=5;
end
yl=x1;y2=x2;y3=x3;y4=x4;
end
figure (1) ;
stem(u) ,grid on

o
)

z(2)= 0;z(1)= 0;
for k= 3:60;% 3 15
z (k)=-1.5* z(k-1)-0. 7* z(k-2)+u(k-1)+0. 5* u(k-2)+0. 5* v (k);
end
% RLS

c0=0. 001 0. 001 0. 001 0.001]";
p0=10"3* eye (4,4);
E=0. 000000005; %
c=[cO,zeros(4,59)];%
e=zeros (4,60) ;%
lamt=1;
for k=3:60;
hi=[-z (k-1),-z (k-2),u(k-1),u(k-2)]";
k1=p0* hl* inv(hl'* p0* hl+l* lamt);% K
new=z (k) -hl'* c0;
cl=c0+kl* new;% c
pl=l/lamt* (eye(4)-kl1* hl')* p0;
el=(cl-c0). /c0;%
e(:,k)=el1; %
c(:,k)=cl;% c
c0=cl;%
pO=pl;
if norm(el)<=E
break;$%
end
end

oe

al=c(l,:); a2=c(2,:); bl=c(3,:); b2=(4,:);
eal=e(l,:); ea2=e(2,:); ebl=e(3,:); eb2=e (4, :);
figure (2);

i=1:60;
plot(i,al,'k',i,a2,'b',i,bl,'r',1i,b2,'g") %
legend('al', 'a2','bl', 'b2");

title ("' ")

figure (3);



1i=1:60;
plot(i,eal, 'k',i,ea2,'b',i,ebl,'r',1i,eb2,'g") %
legend('al','a2','bl', 'b2");

title (" ')
3.3.4
Y m,wim) (0,1] R wlm) <1,
w(m) :1’

b

9

(3.46), (3.48) (3.49)
0, 1=0,1tK, [x(m+D—h(m+138,]
P,..=P,—P.h"(m+D[1+h(m+DP,h"(m+1 ] '"h(m+1DP,
K,. . =Ph"(m+D[1+h(m+1DP,h"(m+1) ]!

[} o Km+1
s INp-1 ’ o N
yPn) KGn) , 0,
. P(m) b o
( ), s
3.3.5
b ( )7
Kalman y
1.
k k ,
, 3-13 R 3-13 m , ,
’ m,
k=i+m , z(i+m),

0 =001 1 K [2G ) —hGHm)B, 1]
Pi,..i=P., 1= Py, 1 h" GHm)[1+hG+nm)Pi, k" Gtm) ]!
hGi+m)Ps,—\
K. =Py 1. WG [ 1+hG+n) P AT Gm) ]!
0, i itm 2(B)(b=1iy+yitm) 0
K[Am.,i
m, i z(1),
0:0i1=000, K1 [2(D) —h(DO,4,,.. ]

Pi'/7'1.1+l :PH’m,i7P1'+m.1h"r(i)[1+h(i)Pi+/mihT(i):Iilh'(i)PH’m.i
L] 46 L]

;Pi+m-,[



K{(m,i 1 :Pi } m.lhT(i)[l_’_h(i)PHm.ih’r(i>]71

2.
, wlk) =" (<1 )
( 3-14 )
J@ = DIt (z(k) — h(DD T (2(k) —h(k))) = min (3.50)
k=nt1
1.0 pp—— PR At
: : 1.0
| I |
I | I
I | |
| ! I
: L : Lk
o i i+1 i+m-1 i+m 0 ntl m
3-13 3-14
(3.50)
ém+1 :ém +Km+] [Z(m+1) _h(7n+1)ém]
K, .1=P,h"(m+D[M+h(m+DP,h"(m+1)]"
Pm+1 :%[I_Klerlh(m"il)]ile
) 0o<a<<l, A )
b b o 7A b
0 A , ,
, 0. 9<<A<<0. 99,
3.4
3.4.1
(3. 24) )
] - [(YH'I 7Hlﬂélll)’rWl)l (YIVI 7Hl)léll'l)] +/l[élll 79”171]’1‘ [éﬁl 7éllﬁl:| (3' 51)
J ;T spu(p=>0) o M
J . ,
;1 é 0 H [} ,L£9 é 0
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3.4.2
s 3-4 SISO ,
y(k) == Day(k—i) + D bu(k—i) + vk (3.52)
i=1 i=1
suCk) k ,ulk—1) kF—1 su(k) 0
(3.52)
y(k) = h(k)O -+ v(k) (3.53)
Dh(R)=[—yk—1) —yk—2) - —yk—n) uCk—1) - u(k—n)]
;0:[611 a, = a, by by - bn:IT o
k=1,2,,m,
YNI - H)llolﬂ _'_ eN'l (3' 54)
1
y(, ) Y]rl
Y,=| i |= [ J (3.55)
y(n) y})l
—y(0) e —y(1—n) u(0) oo u(l—mn)
. . . . . . Hm 1
H, = : : : : : : = [ ; J
—ym—1) = —ym—mn) ulm—1) -+ ulm—n) b
(3.56)
. Wm*l O
W, = diag A7? e 20 = [ } (3.57)
0 1
V/?l*
V, = [o(1) - v(m)]T[ 1} (3.58)
rZ}HI
. (3.5D .0
% N - ZHI—EWIII (Ym _Hmém) + 2/,([&111 _énfl:l - O (3' 59)
90 | o—p
(3.59)
[pI +HW,H,10, = 4.0, +HW,Y, (3.60)
pI+H,W,H, ; (3.60) .
0, =[xl +HW,H, ][40, +HW,Y,] (3.61)
r' =ul+H, W, H,, (3.62)
P,=[pl+HWH,]" (3.63)
(3.63) (3.61),
ém - Pm [,Uém*l +H;£W111Ym] (3- 64)
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T o 15 A
HnﬁIWm*IY/rﬁl - P;ﬁl 0!/1*1 7}»(0//1*2

(3.55) (3.57) (3.63),
ml - flI +AH;£*1W711*1 Hm*l +hl}lh2)l
(3. 66) ’ /,(Iv

HITI*IWM*IHUI*I +/JI - /JI +%|:P,;l _/11 _h;};hm]
(3.62) (3.67),

P;zll - ILLI _’_%[P;;l 7/11 7h/ﬁ£hm:|

(3.55) (3.57) (3.64),
ém - Pm [ﬂéuﬁl _|_AH;£71W11171 thl + h/}lym]
(3.65) (3.68) (3.69,

ém - énhl _'_ A,UPM [élrhl 7 énhZ:I + P/thgl [ym 7 hmé nhl:I

(3.68)  (3.70),
0,=0,—,+aP,[0,.—0,—.]+P,h.[y,—h0, ]
P,=[pl+)M, W, H, +hh,]"
(3.70) 0,

A

hme m—1 ’ 01)1* 1 ’

. .
, 30,10, sApus P,

3.4.3
2(B)tarz(k—1) Ftaz(b—2)=bju(k— 1) +byu(k—2)+V (k)
, a=1.6.a,=—0.7.0,=1.0  b,=0.5;V (k)
; u(k) N,D o ,
4=0. 95,
, MATLAB chap3 4.m,
3-15, 3-16 3-17 s 3-4

3.

3.

3.

3.

3.

65)

66)

67)

68)

69)

L70)

;ymi

T
;thm

A=0.995,
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